F10XR—1 AOEIREKRE (FRERT - TTETA )

(20 1) 054
A% K (F5-48)

LS E S |

B g |oeiw| B |0  ER o Ekik
= 727,288 | 372,603 | 354,685 70,151 | 1,576,016 | 802,536 | 773,480 | 1,326 | 696 | 630 600
FOERILBR 4,901 2,479 2, 422 439 14,535 7, 154 7, 381 7 2 5 3
L T AT 2, 235 1,125 1,110 213 5, 238 2, 593 2, 645 1 - 1 -
fFkm] 2,235 1,125 1,110 213 5, 238 2,593 2,645 1 - 1 -
YE AR 227 104 123 26 1,014 468 546 1 1 - -
iAE N 212 96 116 25 817 367 450 1 1 - -
estad 15 8 7 1 197 101 96 - - - -
= ARG T 637 349 288 51 1, 454 763 691 1 1 - 1
fe o)1 291 162 129 27 884 456 428 1 1 - 1
Fgisni] 346 187 159 24 570 307 263 - - - -
REAORERET 358 179 179 29 1,354 649 705 1 - 1 1
(EENI 285 148 137 21 915 448 467 1 - 1 1
o5 EHT 59 24 35 6 298 140 158 - - - -
JUBE (LT 9 4 5 - 93 42 51 - - - -
e P T 5 3 2 2 48 19 29 - - - -
BIRREERT 349 169 180 31 1,111 543 568 1 - 1 1
A 120 57 63 8 402 197 205 1 - 1 1
B EHT 39 21 18 2 195 94 101 - - - -
ST 22 16 6 - 116 58 58 - - - -
A4 M) 168 75 93 21 398 194 204 - - - -
TSR AR T 315 153 162 22 1,014 486 528 - - - -
H5h 115 61 54 7 351 181 170 - - - -

ES=) 38 22 16 2 159 78 81 - - - -
== 58 26 32 3 105 53 52 - - - -
1 R HT 18 10 8 3 92 38 54 - - - -
F g T 35 12 23 4 134 55 79 - - - -
H i) 1T 51 22 29 3 173 81 92 - - - -
3R AR AT 546 273 273 40 2, 059 1,019 1, 040 2 - 2 -
3 T 315 160 155 25 1, 165 591 574 1 - 1 -
Fr 7R XM 39 22 17 1 190 85 105 - - - -
SR/ 71 32 39 6 394 198 196 1 - 1 -
E HHT 109 53 56 8 234 113 121 - - - -
IS FRHT 12 6 6 - 76 32 44 - - - -
B AR T 186 102 84 24 852 420 432 - - - -
e 120 63 57 12 498 253 245 - - - -
B ST T 53 35 18 8 259 122 137 - - - -
IR 12 4 8 4 86 41 45 - - - -
b LAy 1 - 1 - 9 4 5 - - - -
B T B A T 48 25 23 3 439 213 226 - - - -
oy ) 1T 5 4 1 - 78 33 45 - - - -
FRACHT 43 21 22 3 361 180 181 - - - -
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B1OXR—1 ANEEBRE (FREEFT - THETATR)
(20 2) SERbGR
AT e | |
ShER Bk S AT B W&;még fepeas (G2 5

£ -848,728 | 15,534 | 7,152 | 8,382 2, 404 1,943 461 | 474,741 | 183,814
FOERILBR -9, 634 96 41 55 16 13 3 2,944 1, 466
Fsgi L R e T -3, 003 45 18 27 5 5 - 1,379 586
FEk LT -3, 003 45 18 27 5 - 1,379 586
YR (R AR -787 2 1 1 - - - 121 69
iAE N -605 1 1 - - - 112 60
o S HP AT -182 - - - - - - 9 9
= AR T -817 11 3 8 2 1 1 367 232
fe o)1 -593 1 4 1 - 1 152 103
Fgisni] -224 6 2 4 1 1 - 215 129
REAORERET -996 13 9 4 3 2 1 198 105
(EENI -630 10 7 3 2 1 1 141 82
Mo 5 T -239 3 2 1 1 1 - 39 17
JUBE (LT -84 - - - - - - 7 -
e P T -43 - - - - - - 11 6
SR IREERT -762 3 2 1 2 1 1 206 108
A -282 1 1 - 1 - 1 65 40
B EHT -156 - - - - - - 32 11
)BT -94 1 - 1 - - - 15 10
A I -230 1 1 - 1 1 - 94 47
L RREET -699 3 2 1 1 1 - 158 78
H5h -236 2 1 1 - - - 73 32
ES=) -121 - - - - - - 20 13
A T -47 1 1 - 1 1 - 19 12
1 R HT ~74 - - - - - - 13 4

F g T -99 - - - - - - 18
H i) 1T -122 - - - - - - 15 10
3R AR AT -1,513 12 4 8 2 2 - 375 202
A T -850 6 2 4 1 1 - 221 125
72 ~HT -151 2 - 2 - - - 32 15
T -323 2 1 1 1 1 - 62 26
E HHT -125 2 1 1 - - - 52 31
IS JRHT -64 - - - - - - 8 5
B AR T -666 7 2 5 1 1 - 106 68
e -378 5 1 4 1 1 - 71 43
B ST T -206 2 1 1 - - - 28 16
K Hby -74 - - - - - - 7 7
ity Sy -8 - - - - - - - 2
B R A A ST -391 - - - - - - 34 18
oy ) 1T -73 - - - - - - 2 3
FRACHT -318 - - - - - - 32 15

_31 —




FB10O0XR—2 ADOHERE (X)

(PRAERT - THETAA)

(20 1) 54

oA o= | o o= 5%%}; ?g%fg EP SN FERER FRSEPESR | NTFEPESR

ONERS°)) ONERS5)) ONEES5))
(HH A= TF%F) (W E T %)

4 6.0 13.0 1.8 .8 A T.0 20.9 9.6 11.3
ARk R 5.5 16.4 1.4 0.6 A 10.9 19.2 8.2 11.0

o L AR R T 6. 4 15.0 0.4 - A 8.6 19.7 7.9 11.8
Fiapk L 6.4 15.0 0.4 - A 8.6 19.7 7.9 11.8

Y P AR PT 4.2 18.9 4.4 - A 14.7 8.7 4.4 4.4
AL 4.6 17. 8 4.7 - A 13.2 9.3 4.7 4.7

o By T 2.0 25.7 - - A 23.7 - - -

= AR T 5.7 13.1 1.6 1.6 A T3 17.0 4.6 12.3
Fo o)1 5.1 15.5 3.4 3.4 A 10.4 16.9 3.4 13.5
Zgistin) 6.4 10. 5 - - A 4.1 17.0 5.7 11. 4

AR AT 4.5 16.9 2.8 2.8 A 12.4 35.0 24.3 10.8
[iE NI 4.9 15.6 3.5 3.5 A 10.7 33.9 23.7 10. 2

Do b EHT 3.9 19. 6 - - A 15.7 48. 4 32.3 16. 1

JUEE LT 2.6 26. 5 - - A 23.9 - - -

e AT 1.8 17.6 - - A 15,7 - - -
SRR 5.3 16.7 2.9 2.9 A 11.5 8.5 5.7 2.8
A H 4.8 16. 1 8.3 8.3 A 11.3 8.3 8.3 -

B HT 3.7 18.7 - - A 14.9 - - -

JE )Y 3.4 18.0 - - A 14.6 43.5 - 43.5

A )R] 6.8 16. 2 - - A 9.4 5.9 5.9 -
LR 5.5 17.6 = = A 12.2 9.4 6.3 3.1
Y 5.2 15.7 - - A 10.6 17.1 8.5 8.5

F AT 6.0 25. 1 - - A 19.1 - - -

H T 7.5 13.6 - - A 6.1 16.9 16.9 -

i ELET 3.6 18.3 - - A 14,7 - - -

FIREHT 4.8 18.2 - - A 13.5 - - -

H )1 T 5.9 19.9 - - A 14.0 - - -

O R FT 4.7 17.7 3.7 - A 13.0 21.5 7.2 14.3
AT 4.7 17.5 3.2 - A 12.8 18.7 6.2 12.5

Tr 7R ~SHT 3.5 16.9 - - A 13.4 48.8 - 48.8

My 3.6 20. 1 14.1 - A 16.5 27. 4 13.7 13.7

- T 7.1 15. 2 - - A 8.1 18.0 9.0 9.0
ERZ 3.5 21.9 - - A 18.4 - - -

e AT 4.4 20. 3 - - A 15.9 36.3 10. 4 25.9
B 4.7 19. 4 - - A 14,7 40.0 8.0 32.0

A I T 4.0 19.5 - - A 15.5 36. 4 18.2 18.2

K ity 4.6 32.9 - - A 28.3 - - -

Ak A 2.7 24. 1 - - A 21.4 - - -

BT E AR BT B A KT 3.0 27.3 - - A 24.3 - - -
o) 1T 2.2 34.3 - - A 32.1 - - -

FRAHT 3.1 26. 1 - - A 23.0 - - -
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FB1OXRK—2 ADEHERE ()

(PREERT - THETHTA)

(£m2) SERNIBLEE

e v i ik ol N WO

CW o T oA ) (AT UNEES5)) (AN Fxh)

4 3.3 2.7 0.6 3.9 1.5
ARk R 3.3 2.7 0.6 3.3 1.7

Fsk L AR T 2.2 2.2 - 4.0 1.7
Fiagk (i 2.2 2.2 - 4.0 1.7

YR (R AT - = - 2.3 1.3
Wgra - - - 2.4 1.3

fo e BpmT - - - 1.2 1.2

A HARGEPT 3.1 1.6 1.6 3.3 2.1
Feo)ITH 3.4 - 3.4 2.7 1.8
ot 2.9 2.9 - 4.0 2.4
AT 8.3 5.6 2.8 2.5 1.3
N 7.0 3.5 3.5 2.4 1.4

Do b EHT 16.9 16.9 - 2.6 1.1

JUBE (LT - - - 2.0 -

i EP T - - - 4.0 2.2

B R R 5.7 2.9 2.9 3.1 1.6
A 8.3 - 8.3 2.6 1.6

B HT - - - 3.1 1.1

i1 BT - - - 2.3 1.5

A mJI T 6.0 6.0 - 3.8 1.9

HLH R T .2 3.2 - 2.7 1.4
LT - - - 3.3 1.4

F iy - - - 3.2 2.1

ERs) 17.2 17.2 - 2.5 1.6

EEN=Y - - - 2.6 0.8

T - - - 2.4 1.0

ER=AILa) - - - 1.7 1.1

HID R EERT 3.6 3.7 - 3.2 1.7
A 3.2 3.2 - 3.3 1.9

Fp 7R ~XHT - - - 2.8 1.3

=hi) 14. 1 14. 1 - 3.2 1.3

= T - - - 3.4 2.0

I X HT - - - 2.3 1.4

e R 5.3 5.4 - 2.5 1.6
N 8.3 8.3 - 2.8 1.7

HZE s T T - - - 2.1 1.2

K AT - - - 2.7 2.7

b LAy - - - - 5.3

Pt SRS - - - 2.1 1.1
L - - - 0.9 1.3

FRAHT - - - 2.3 1.1
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